P .
/) 3. Coding System
7. SESAME MOTOR CORP.
SESAME P Planetary
Planetary Gearbox Operation Manual H + Bxactifude Helical Series
G | crade G : Precision Series
" Thank you for selecting SESAME products. gns ISO 9001 E : Efficient Series
C Us Please read this manual before operation. \‘./m., ISO 14001 U : Heavy Duty Series
Safety Standards: The safety standard marks are indicated on the nameplates of approved products. L L : Square Housing with Flange
Connection C : Round Housing without Flange
; ; it E : Round Housing with Flange
1.2 Installation environment limitation
M R : Right Angle
_ _ . Gearbox must install under following term, F : Plate Type
1.1 Preparation before installation do not accord with those term, as the gear- H : Square Flange Helical Gear ( Square Flange Helical Gear
Please read this operation manual before box might be damage, and which will not for G Grade (Precision Series) Only )
using this Gearbox. Any problems caused by be cover by the warranty. B : Muti-Ratio Series
inappropriate operation contrary with the @ Gearbox is design or manufacturing, for use in ; El/lur’:;sl-hof;e;j Series
manual, or damage caused by natural disas- the other of mechanical equipment assembly. - HonTLoad senes
ters, or restructure the Gearmotor without our .
permission, Sesame will not hold any respon- # Avoid Gearbox used in flammable gas or corro- 60 | Size 42:0142 60:L160 90:L190 116:L1116 142:L 1142 180:L1180 220:L1220
sibility nor will the Gearbox be cover by war- sion gas environment. ! Single Stage:3.4,5,6,7,8,9,10
ranty. Speed Reduction  Double Stage:12,15,20,25,30,35,40,45,50,60,70,80,90,100
o ® Operate temperature is between -10 to + 90°C. 30 Rp " , g
¢ Warranty start within one year after purchase I atio Multi-Stage: 125~1000
the Gearbox. Within warranty period, if Gear- 4 Humidity: no more than 85%, in order to avoid P1 | Backash PO: Micro Backlash
box damage is not cause by operation error condensation. : P1: Precision Backlash
nor by natural disaster, then please send , _ P2: Standard Backlash
back the Gearbox, we should replace the 4 Operate altitude may not be higher than 1000m v | cust Sociicat
above sea-level ustomer Specification
damage spare part at free of charge. |
¢ Installation, Disassemble, Maintenance on # Avoid direct sunlight, dust accumulation. MOTOR | Motor Model
the gearbox, needed to be performing by _ S _
Train Profession. 4 Avoid continuity vibration or hit.
. L , . . FILL IN DATA OF MOTOR —~ (4-90°)aF
# According to the application and operation # Used in good ventilated place. 0
environment, the gearbox temperature might b4
be raising after period of running. Please do ) &
not touch the gearbox directly during opera- 2. Gearbox Introduction N
tion, or right off from operation. . . . .
g p As shown below, the input side is for installing Motor
¢ Do not touch any rotating components when the servo motor and the output is join the ] — <
the gearbox is running. Ensure that the plugs application equipment. - —
of the gearbox were inserted after installa- Motor Label: 1 3
tion. Avoid any small object fall into the gear- ' N L
box. Motor Model:
4 Handle the gearbox gently during installation, N
as the component is precision. Therefore, do D
not knock the gearbox by any tool, In order to C OH
avoid the influence of running accuracy.
. . SPECIFICATIONS
& Do not disassemble or transformation of
Gearbox, or they may be injured or cause Voo Votor eh Motor | Actual Len
. .C. ath
damage to equipment. shaft | FI99e | snaft | HONoS of P0re | Flange of Backiash
& The Gearbox | led desi il bel To ensure the product performance, both the input Dia. ' Length 9 Bore * | Sauare | Motor Shaft
€ searboxis a sealed design, off belongs and output ends must be protected carefully to A(h6 B(h7 c D £ . OH L PO/P1/P2
to semi-solid advanced synthetic oil, and . : . gA(h6) | @B(h7) 2 2
e : avoid any damage, and cause improper operation.
therefore it is no need for change oil.
|

SESAME MOTOR CORP. / Planetary Gearbox Operation Manual V1.3 Page 1/4 SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.3 Page 2/ 4



2 1t 175 5B M BT 1D 5 PR A S 3 W

®
sssae SESAME MOTOR CORP. P | F2svmsme
T2 5 {/E 20 H: FIEEAE
TE2EI0ERE R{EsRIRE G | =® o TR
. RETERtHERES - <), ISO 9001 E: ERE
CE c“ us EZE%%&T?T%T’EKED%H?ﬁﬁﬁéiﬁﬁﬁﬁééﬁﬁﬁﬁﬁé RE“//‘!"'"S ISO 14001 U EETEEY
Paa e - QB2 2 ZRRBAR » EosaE LY ZHIEEE » BB &8s - L AR EERE SN L: BEEEER
C: B EAEE
Np e — o e E: H’Zﬁ)ﬁﬁ%ﬁ
= IE\ 1.2&%%%5’%&'% . .
R R LR T AR - TR & Tl Rﬁgéﬂ%
P TR o (PRI R SRR S TTE FEEERE .
' (RE B - H: S AmEREE CBRRSRCERIITEIVEIRE)
e e . . B: JLhEAY
& [ FIRTEE SR IERIAE > 2R B ~ o N TR
3?@%2125{)/;52%%%%%%?@@?&3:5 & AL EGTEEGE Bl AR ELA 2 1% T gjﬁgﬁ“ﬁiﬂj@
SRR + ERRVERE A S T P AT Poka L P AR
WHHRE » SR IRR A E 2 (5 e S )
f@mMﬁ%ﬁg@ﬁﬁgﬂ;ﬁgm@@ ,E & SBEGURHRGHRR S T PTPA SR AR SR RS 2 TR 60 | 1E5% 42:0142 60:L160 90:1190 116:1115 142:[1142 180:11180 220:1220
KATUWG ARSI E BT - B - 4 i || EL ESEAT 13,4,5,6,7,8,9,10
AR AR © v o 30 EEERTY 112,15,20,25,30,35,40,45,50,60,70,80,90,100
& JE[E] {5 IR -10~+90°C e \ ZERTY 1125~1000
& 2R 7 i P B e — R o - \ e s o
BRI SRR ST | T TS - LRS- P1 | P0: IR
, A 7 oL y AN = g;? B Pl: {EZEHER
o%ﬁ%gm%@ SEFIRRERTES & EE  FAEEIE TR 10004 R ¢ ' po: (BRI
o Y | s
& RS FEHE - I (R - A & ESRPE AR - KBRS - |
BT - N SR
T S K SIS - MOTOR :
& (R IR Y R o B e e
TR SRR BB T SER R BRE & SR ERTER BB - TS _ (4-90°)oF
455 O EL BRI - \ =ZFIETER 3
& [ BT E 2 AT - <
& SEEEEE ) B felsrh 2 S0 o R AN .
e B G T R > e | 2. SRS A 3
N RN e ==
e e e paeti N TFCHHE) B A I BRBRL 13 > A SRR R 2ot SE i /
& GoHBE SR EA N o ZEEEREH » 357 LUK ﬁ;HE g% , ﬁﬁjﬁﬁﬁﬁA%Htﬁﬁﬁ@?{g%ﬂE@%n% — =~ /
BB T B AR - LUt B Lo R - ! <l
KERE o ESiERT : ] 19 \
& SEVEREBSE T TR S - TR TR A - =
SGER T8 - |
I I D
& FEE RS R o L E R SR A - .
\\ b \Er:_" \\ o Ly
{EE Tﬁﬁ@{ﬁﬂ Hjjjllffﬁ *E*g
)\ﬁﬁﬂ”ﬁﬁ'ﬂHjﬁﬁﬂ”ﬁﬁﬁ']ﬁﬂfaﬂfi,%%Ll&Féﬁﬁﬁﬂ”ﬁtﬁifﬁé BIEMNE | BELENE | BEMRE [BEOEGSE [ IBMSLPIME | IRMLER | BEERY | BEMEIE ERERE
o TEIF R RTLZE/ VO IREE » SRR GG ECE A5 oAh6) | 2B(h7) c D oF oF OH L PO/P1/P2
BOETERER > R TIER -

TRTH / FESFESEERPE VL3 Page 1/4 EETE S/ ARSI EERPE VLS Page 2/4



4. MOTOR CONNECTIVETY WITH GEARBOX

* 4.1

Check the motor and gearbox size.
Clean the mounting surface.

*42

Take off the plug from the adapter plate.
Revolve the set collar until the bolt is aligned
with the hole.

Remove the key from the motor

shaft. Mounting the balance key if

necessary.

4.4

Make sure the motor
shaft size. Choose
the right bushing if

necessary. Qf)

As installing on flatted
shaft, be sure to align the
collet gap over the flat and
the set collar bolt perpen-
dicular to the flat.

*45

Tighten the mounting screws in
1~4 order with torque wrench to
5% specified torque.

*4.6
Tighten the set collar bolt with
torque wrench to specified torque.

*4.7

Tighten the mounting screws in 1~4
order with torque wrench to speci-
fied torque.

*4.8
Put the plug back on the adapter plate.

Tightening Torque )
Bolt Size Width Across Flats Tigﬁ’:;?r?g;hT%liue Tigsr:trg:i%? ;gfgue Tigsr:tr:r?i?g Tf&?ue
mm N-m In-Ib N-m In-Ib N-m In-Ib
M3*0.5P 25 1.3 12 1.8 16 2.1 19
M4*0.7P 3 3 27 4.1 37 4.9 44
M5*0.8P 4 6.1 55 8.2 73 9.8 87
M6*1P 5 11 98 14 124 17 151
M8*1.25P 6 25 222 34 302 41 364
M10*1.5P 8 49 434 67 594 80 709
M12*1.75P 10 85 753 116 1028 139 1232
M14*2P 12 137 1214 186 1648 223 1976
\_ M16*2P 14 210 1860 286 2534 343 3038

5. TEST RUN & TROUBLE SHOOTING GUIDES

*5.1

Power on the motor. Slowly drive the
motor and adjust its mounting status
until the gearbox is driven smoothly.

¢52

If the problem could not be solved
via the procedures above, please
DO NOT take apart of the motor,
contact SESAME for technical sup-
port right away.

AEnsure the plug was
installed before start

the motor. °

ADO not touch any
rotating component
when the gearbox
is running.

/\ Attention

@®Apply our product with other, please ensure it matchother’s
requirement, specification, or limitation.

®Customer need to recheck our product is suitable for their
current system or machinery usage.

#|f customer is neglecting for rechecking, then Sesame is
not responsible for any cause there might occur.

SESAME MOTOR CORP. :
http://www.sesamemotor.com.tw/
E-mail: info@sesamemotor.com.tw
TEL: +886-4-2561-0011

FAX: +886-4-2562-7766

SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.3 Page 3/4

SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.3

Page 4/ 4



*4.1
5 e 7 5 S VSR AR A S E
A 6 P B G 2 B TR AL
o

*42
i AN EAI A ZEIHECT - EE
EFHRIR - H RSB IRIR A e R
BATL °

*4.4
5 B - B
HE 9 B 5 4 E S
DAL 5 58 TR
BT R E -
4 _l 3
|
1
*4.5 *4.6
S TR ek AR R < B T
AR AR SRR - ST
5% » BRI AR - B LRI R 5
H%@%%%ﬁ%ﬁ%@ﬁi ° fﬁﬁ?%ﬁfﬁ%& o S
*4.38

*4.7
KR R T 2%
$H B IE k) AR
 ARIE1 R ANE
) I R R
TREHER o

/ﬁﬁ?ﬂ%ﬂﬂﬂﬁﬁ R )
ARERY BESSBM TR | BEI0OMMKZMTES | BE29BHZHEEN
BER~T
mm N-m In-Ib N-m In-Ib N-m In-lb
M3*0.5P 25 1.3 12 1.8 16 2.1 19
M4*0.7P 3 3 27 4.1 37 4.9 44
M5*0.8P 4 6.1 55 8.2 73 9.8 87
M6*1P 5 11 98 14 124 17 151
M8*1.25P 6 25 222 34 302 41 364
M10*1.5P 8 49 434 67 594 80 709
M12*1.75P 10 85 753 116 1028 139 1232
M14*2P 12 137 1214 186 1648 223 1976
\_ M16*2P 14 210 1860 286 2534 343 3038 /

5. 38 5 I &l 4 W [ BEBR

*5.1
iR ER BE ) o DUREEEE E
SN o MEREEEE - 5 (T
AN E A 0 3 A R NE G
ﬁ?%ﬁ: » FEREAA LAIE B TR & B

¢52
e DL A AT T A o B A
» GA ) HEATHRAE o G R R B 115 ER
RS - DI ROl iae) -

/\ SEERTRS L R

A b2 ZEBH LR
HEPARE

A HEL L
th 2 &R

AAER
A OREAS N ] 7 o Lt 7 O AT (5 IR B AR
REMEEFATHR I  IEFBPRGIE -
o UtIh - FREF BATHERR H HIFT E AR ~ %
PEREE B i FH A R ©
SRR ST & BOE AR - AN R HEHEIA
NFIEMIEREEE -

AR D EIRAF -
http://www.sesamemotor.com.tw/
E-mail: info@sesamemotor.com.tw
TEL: +886-4-2561-0011

FAX: +886-4-2562-7766

2T/ AR VL3

Page 3/4

EERTE / FENRERETRP T VL

Page 4/ 4



	行星式減速機操作說明書V1.3_eng_P01-02
	行星式減速機操作說明書V1.3_cht_P01-02
	行星式減速機操作說明書V1.3_eng_P03-04
	行星式減速機操作說明書V1.3_cht_P03-04

